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Serializability

What is Serializability ?

Serializability is the concurrency scheme.

Serializability ensures that a schedule for executing concurrent transactions is equivalent to
one that executes the transactions serially in some order.

It assumes that all accesses to the database are done using read and write operations.

Let’s take a simple example;

UPDATE EMPLOYEE SET SALARY=SALARY+10000 WHERE EMPN0=1010;

In this SQL query, two transactions are running concurrently updation of salary and searching
of employee no.

Conflict serializability

Transaction 1 Transaction 2
Write(A)
Read(A)
Read(B)
Write(B)

Serializable schedule
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Transaction 1 Transaction 2
Write(A)
Write(B)
Read(A)
Read(B)

Not Serializable schedule

Transaction 1 Transaction 2
Write(A)
Read(A)
Read(B)
Write(B)

Serializable schedule

Transaction 1 Transaction 2

Read(A)
Read(B)
Write(A)
Write(B)

MNot Serializable schedule

Serializability

Instructions 11 and 12 of transactions T1 and T2 respectively, conflict if and only if there exists

some item A accessed by both I1 and 12, and at least one of these instructions write A.

1. I1 = Read(A), 12 = Read(A). 11 and 12 don’t conflict.

(

2. 11 = Read(A), 12 = Write(A). They conflict.
(A), 12 = Write(A). They conflict
( (A)

4. 11 = Read(A), 12 = Write(A). They conflict

Check out this video lecture, for more info on Serializability.

EasyExamNotes.com Serializability


https://i0.wp.com/lh3.googleusercontent.com/-3jspuAlKF8I/X_nx9wRuomI/AAAAAAAAGy8/HFayXun5W0Mt4cheDaubBtNvwSVmwgVsQCLcBGAsYHQ/image.png?ssl=1
https://i0.wp.com/lh3.googleusercontent.com/-48HYgY7TTuo/X_nzDwAJYgI/AAAAAAAAGzU/4zkBc4nOqQsWYHYweSvLrfXsejtY4uMFQCLcBGAsYHQ/image.png?ssl=1
https://i0.wp.com/lh3.googleusercontent.com/-ieb08aPKFqk/X_nymPo3GGI/AAAAAAAAGzM/guq7QmqnHd8r-fDPC1dl2J-CVeQxQzBzACLcBGAsYHQ/image.png?ssl=1

